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All You Need Is Love.

John Lennon and Paul McCartney.

<.Copyright 1967 Northern Songs Limited, 19 Upper Brook Street, London W1.
All rights reserved. International copyright secured.
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Love, love, love, Love, love, love. Love, love, love. I
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1.There’s noth-ing you can do that can’t be done Noth-ing you can sing that can’t be
2.There’s noth-ing you canmake that can’t be made No one you cansave that can’t be
3.There’s noth-ing you can know that is - n’t known. Noth-ing you can see that is - n’t
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sung. Noth-ing you can say, but you can learn how to play the game,
saved Noth-ing you can do, but you can learn how to, be you in time, It’s
shown No-where you can be, that 1is - n’t where __ you’re | meant to be,
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eas - y. All you need is love, all you need is
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love, All you need is love, love, That is all you need._]
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